ARNTEREFSREHZFHT - AOKER

FR29F9 8 RIBTE
FR29F 9/ K H BE IZES
THH 5 5 % 2 X5 THHE 5 z H
BAAERARD 29,338 36,459 39,091 75,550 BARAERAO 29,309 36,433 39,079 75,512
SEAERAD 183 269 241 510 SEAERAO 189 273 242 515
KENMmAL 29,521 36,728 39,332 76,060 KENMmAA 29,498 36,706 39,321 76,027
BARAERME - A OEETE (1K) BAAFEREME- AOKETE (IBNE)
T2 BRE 0 5 % T A BRE JiEg B E-q (BEH) (BEH)
AGERT Hh I AREHET 1,158 1,475 1,475 2,950 B = b B 247 295 310 605 E%) TR 5 5 = B X5 THH 5 S =
A £ is Kz 820 883 898 1,781 ¥ /N 126 156 173 329 HE—TH 771 812 945 1,757 WiLE—TH 186 232 228 460
2K BT 7 $h 32§ AHET 7 199 196 233 429 = H 108 141 153 294 HE-TH 563 635 726 1,361 WUE=TH 0 0 0 0
BT B Hhig ARETER 883 943 1,051 1,994 T TIITEn BF 67 79 94 173 WE=ZTH 275 319 343 662 WILE=TH 0 0 0 0
TR Hhig TR 1,048 1,208 1,384 2,592 K 218 256 250 506 FEMTH 209 259 285 544 WILEMTE 0 0 0 0
=/ hig B/E 479 534 588 1,122 EIEFE 20 25 27 52 HWERTH 744 968 1,040 2,008 WILERTHB 106 164 168 332
K2R EHEL 204 214 270 484 FEFTHT 170 174 204 378 H&EATH 88 105 115 220 WILEARTHB 234 338 350 688
e 104 143 154 297 FTET Hhig h#TET 135 150 157 307 HEETHE 203 250 283 533 WLEtETHE 470 724 717 1,441
TR Hhig iR 264 294 357 651 dt#rET 135 173 149 322 HESE—TH 199 236 277 513 W& /INTEB 0 0 0 0
AR HAR W 94 95 133 228 31 182 213 249 462 HEEZTH 252 318 335 653 BWILENTHE 17 19 27 46
KE 914 1,035 1,077 2,112 il 16 24 29 53 HEB=TH 8 9 10 19 BUE+THE 311 469 479 948
At 2 FE Hhisg dzE 482 532 550 1,082 fin B thig chET 37 36 38 74 HEBMTH 0 0 0 0 wea+—TH 263 397 402 799
0t B s B AR 164 184 186 370 BT 99 102 120 222 HEERLTH 304 357 392 749 WUE+=TH 0 0 0 0
i) ] 198 220 224 444 b 87 89 116 205 HEEARTH 173 198 245 443 WUE+=TH 83 112 104 216
Fa i He 2,853 3,348 3,737 7,085 RiiFE 140 144 188 332 HEELTH 342 384 429 813 INET 1,670 2,455 2,475 4,930
HHE A Hhig HES 1,939 2,256 2,515 4,771 AR sk ER—TH 53 55 70 125 HEEB/N\THE 366 448 484 932 ait 13,380 17,993 18,909 36,902
BRAE) & i AE)&—~mTH 785 949 1,029 1,978 BRE_TH 296 335 348 683 HEENLTH 295 306 343 649
PR &Rz &EE~ATH 1,481 2,246 2,271 4517 ERR=TH 60 79 88 167 KZINE—TH 335 405 426 831
M B A Hhig MRS 2,340 3,369 3,426 6,795 il 59 53 65 118 KZNEZTH 101 124 127 251
HBEA Hhig HmES 2,312 3,370 3,456 6,826 Lz k 32 18 35 53 KENE=ZTH 349 420 476 896
LA Hhig wIlUE 1,670 2,455 2,475 4,930 it 41 47 47 94 KZEINEWMTH 0 0 0 0
=11 20,391 25,949 27,489 53,438 hnyse BAR ik IhNaE 58 57 63 120 KEINERTH 239 395 384 779
INST 67 64 66 130 RZNBATE 545 771 775 1,546 (&FH)
AAAFRHEE - A O£ (I8 LSRET) %7 72 80 95 175 Az)&tTH 323 467 482 949 X5 A 5 #x i
I H 27 38 36 74 KZINE/NTH 373 612 630 1,242 mmEe—TH 167 193 209 402
1T I 4 AR X HE 5 = i HERE 98 103 108 211 KEINEATH 1 1 0 1 EmE&E=TH 142 148 168 316
& M et LiEE 191 239 288 527 FeE] W 112 134 151 285 MEE—TH 506 757 707 1,464 ENmEE=TH 140 143 166 309
FafaH 416 546 598 1,144 I 94 101 130 231 MEEZTH 131 208 198 406 EmEemTHE 117 133 151 284
J6 3 B #hisg FEE 418 574 586 1,160 i) 46 48 53 101 MWRE=TH 244 343 375 718 FEINZEERTH 54 61 59 120
o Efhig BETE 660 859 898 1,757 IR Hhig B 33 37 38 75 MWREMTH 264 346 366 712 EmnE&E/RTH 167 181 205 386
HEF 54 53 81 134 BEKE& 61 63 75 138 MEERTH 275 397 403 800 mAmEaetTHE 153 167 199 366
= B | #o1] 137 175 182 357 IhEF 72 72 94 166 MEENRTH 397 561 572 1,133 EmEa/\TH 188 210 233 443
B 241 339 366 705 mpi 40 47 58 105 MWEREETH 299 464 473 937 EmEaenTE 187 210 232 442
bR 44 40 68 108 B4 37 39 45 84 MEE/NTH 224 293 332 625 mnEs+TH 181 206 215 421
tm1&E 52 72 89 161 = 38 40 48 88 m\EE—TH 291 313 326 639 EmxEe+—TH 254 289 294 583
tR2&E 132 150 194 344 B/ 12 14 17 31 W\EE_TH 378 542 559 1,101 EmxEE+=TH 218 269 268 537
LRt ERthis L+IR3F 72 91 110 201 N 5 5 4 9 WEE=TH 360 559 596 1,155 Emxe+=TH 150 179 185 364
FR4TE 52 67 73 140 7/ 32 39 42 81 wBEAEMTH 301 456 475 931 Emxae+mTE 119 136 164 300
LIAsE 103 132 139 271 BTF 22 28 28 56 W\EERTE 372 595 614 1,209 Emxe+ETH 141 171 168 339
LIH6e&E 160 178 211 389 L 2 ITFF 15 16 21 37 BEBANTH 331 592 559 1,151 =1 2,378 2,696 2,916 5,612
tR7E 67 83 83 166 3 10 13 11 24 B\EEtTH 278 312 327 639
L inraEbitig LIH8E 92 119 118 237 == 9 7 9 16 HwmEE/\TH 1 1 0 1
+IHo%E 109 120 137 257 g /2 4 3 2 5 INET 11,710 15,538 16,434 31,972
EH10FE 90 98 122 220 N 13 11 15 26
WERXsN 27 26 30 56 it 29 37 45 82
= Re X 44 6 4 6 10 853 46 54 72 126
R4 66 55 71 126 FINTE & i EmnEs 2,378 2,696 2,916 5,612
aEt 3,189 4,020 4,450 8,470 =1l 5,758 6,490 7,152 13,642




